COMMON FIXED POINTS OF TWO NONEXPANSIVE MAPPINGS BY A NEW ONE-STEP ITERATION PROCESS^{*}

S. H. KHAN^{1**}, M. ABBAS² AND A. R. KHAN³

¹Department of Mathematics, Statistics and Physics, Qatar University, Doha 2713, Qatar Email: safeer@qu.edu.qa & safeerhussain5@yahoo.com
²Department of Mathematics, Lahore University of Management Sciences, 54792, Lahore, Pakistan, Email: mujahid@lums.edu.pk
³King Fahd University of Petroleum and Minerals, Department of Mathematics and Statistics, Dhahran 31261, Saudi Arabia, Email: arhaim@kfupm.edu.sa

Abstract – We introduce a new one-step iteration process to approximate common fixed points of two nonexpansive mappings in Banach spaces and prove weak convergence of the iterative sequence using (i) Opial's condition and (ii) Kadec-Klee property. Strong convergence theorems are also established in Banach spaces and uniformly convex Banach spaces under the so-called Condition (A'), which is weaker than compactness.

Keywords – One-step Iteration Process, nonexpansive mapping, common fixed point, condition (A') weak and strong convergence

1. INTRODUCTION

Let E be a real Banach space, C a nonempty convex subset of E and $T: C \to C$ a mapping. Recall that T is nonexpansive if

$$\left\|Tx - Ty\right\| \le \left\|x - y\right\|, \forall x, y \in C.$$

A point $x \in C$ is a fixed point of T provided Tx = x. Throughout this paper, \mathbb{N} denotes the set of positive integers. Construction of fixed points is an important subject in the theory of nonexpansive mappings and its applications can be found in a number of applied areas; in particular, in image recovery and signal processing (see, for example, [1] and the references therein). Different iteration processes have been used to approximate fixed points of nonexpansive mappings. Among these iteration processes, the Picard iteration process defined by $x_{n+1} = Tx_n$ is the simplest. However, it does not converge even weakly to a fixed point of a nonexpansive mapping T [2]. For any $x_1 \in C$, define a sequence by $x_{n+1} = (1 - a_n)x_n + a_nTx_n$, where $\{a_n\}$ is a sequence of numbers in [0,1] satisfying $\lim_{n \to \infty} a_n = 0$ and $\sum_{n=\infty}^{\infty} a_n = \infty$. This iteration process is referred to as the Mann iteration process [3] and has been studied mappings. It is well-known that, if C is a nonempty compact convex subset of a real Banach space and $T: C \to C$ is a nonexpansive mapping, then the Mann iteration process strongly to a fixed

^{*}Received by the editor September 1, 2008 and in final revised form May 16, 2010

^{**}Corresponding author

point of T. However, the Mann iteration process fails to converge for Lipschitz pseudocontractive mappings [4]. Ishikawa [5] gave the following two-step iteration process to overcome this drawback:

$$\begin{cases} x_{1} = x \in C, \\ x_{n+1} = (1 - a_{n}) x_{n} + a_{n} T y_{n}, \\ y_{n} = (1 - b_{n}) x_{n} + b_{n} T x_{n}, \quad \forall n \in \mathbb{N} \end{cases}$$

where $\{a_n\}$ and $\{b_n\}$ are certain sequences in [0,1]. To approximate common fixed points of two mappings, many authors have used the following Ishikawa type two-step iteration process [6-8]:

$$\begin{cases} x_{1} = x \in C, \\ x_{n+1} = (1 - a_{n})x_{n} + a_{n}Sy_{n}, \\ y_{n} = (1 - b_{n})x_{n} + b_{n}Tx_{n}, \quad \forall n \in \mathbb{N}, \end{cases}$$
(1.1)

where $\{a_n\}$ and $\{b_n\}$ are certain sequences in [0,1]. Note that the notion of approximating fixed points of two mappings has a direct link with the minimization problem [9]. Recently, Liu et al. [10] introduced the following process.

$$\begin{cases} x_{1} = x \in C, \\ x_{n+1} = (1 - a_{n}) S x_{n} + a_{n} T y_{n}, \\ y_{n} = (1 - b_{n}) S x_{n} + b_{n} T x_{n}, \quad \forall n \in \mathbb{N}, \end{cases}$$
(1.2)

where $\{a_n\}$ and $\{b_n\}$ are certain sequences in [0,1]. In this paper, we introduce a new one-step iteration process to compute common fixed points of two nonexpansive mappings in Banach spaces. For $S,T: C \to C$, we define the iteration process as follows:

$$\begin{cases} x_1 = x \in C, \\ x_{n+1} = a_n Sy_n + (1 - a_n) Tx_n, \quad \forall n \in \mathbb{N}, \end{cases}$$
(1.3)

where $\{a_n\}$ is a sequence in [0,1] satisfying appropriate conditions. From a computational point of view, (1.3) is simpler than both (1.1) and (1.2) to approximate the common fixed points of two mappings. It is worth mentioning that our process is of independent interest. Neither (1.1) nor (1.2) implies (1.3); the converse of this statement does not hold either. However, our process reduces to the Mann iteration process when S = I (: the identity mapping).

Let us recall some definitions.

A Banach space E is said to satisfy Opial's condition [11] if, for any sequence $\{x_n\}$ in E, $x_n \perp x$ (, denotes weak convergence) implies that

$$\limsup_{n \to \infty} \|x_n - x\| < \limsup_{n \to \infty} \|x_n - y\|, \qquad \forall y \in E(y \neq x).$$

Examples of Banach spaces satisfying this condition are Hilbert spaces and all spaces $l_p(1 .$ $On the other hand, the spaces <math>L^p[0, 2\pi]$ with $1 fail to satisfy Opial's condition. A mapping <math>T: C \to E$ is called demiclosed with respect to $y \in E$ if, for each sequence $\{x_n\}$ in C and $x \in E$, $x_n \downarrow x$ and $Tx_n \to y$ imply that $x \in C$ and Tx = y.

A Banach space E is said to satisfy the Kadec-Klee property if, for every sequence $\{x_n\}$ in E converging weakly to x together with $||x_n||$ converging strongly to ||x|| imply that $\{x_n\}$ converges strongly to a point $x \in E$.

Uniformly convex Banach spaces, Banach spaces of finite dimension and reflexive locally uniform convex Banach spaces are some of the examples of reflexive Banach spaces which satisfy the Kadec-Klee property.

Next, we state some useful lemmas.

Lemma 1. [12] Suppose that *E* is a uniformly convex Banach space and $0 for all <math>n \in \mathbb{N}$. Also, suppose that $\{x_n\}$ and $\{y_n\}$ are two sequences in *E* such that $\limsup_{n\to\infty} ||x_n|| \le r$, $\limsup_{n\to\infty} ||y_n|| \le r$ and $\lim_{n\to\infty} ||t_n x_n + (1-t_n)y_n|| = r$ hold for some $r \ge 0$. Then $\lim_{n\to\infty} ||x_n - y_n|| = 0$.

Lemma 2. [13] Let *E* be a uniformly convex Banach space and *C* be a nonempty closed convex subset of *E*. Let *T* be a nonexpansive mapping of *C* into itself. Then I - T is demiclosed with respect to zero.

Lemma 3. [14] Let *C* be a nonempty bounded closed convex subset of a uniformly convex Banach space and $T: C \to C$ be a nonexpansive mapping. Then there is a strictly increasing and continuous convex function $g:[0,\infty) \to [0,\infty)$ with g(0) = 0 such that

$$g(\|T(tx + (1-t)y) - (tTx + (1-t)Ty)\| \le \|x - y\| - \|Tx - Ty\|$$

for all $x, y \in C$ and $t \in [0, 1]$.

Let $\omega_w(\{x_n\})$ denote the set of all weak subsequential limits of a bounded sequence $\{x_n\}$ in *E*. The following result is Lemma 3.2 of Falset et al. [15].

Lemma 4. Let E be a uniformly convex Banach space such that its dual

 E^* satisfies the Kadec-Klee property. Assume that $\{x_n\}$ is a bounded sequence in E such that $\lim_{n\to\infty} ||t_n x_n + (1-t)p_1 - p_2||$ exists for all $t \in [0,1]$ and $p_1, p_2 \in \omega_w(\{x_n\})$, then $\omega_w(\{x_n\})$ is singleton.

2. PREPARATORY LEMMAS

In this section, we prove a pair of lemmas for the development of our convergence results. In the sequel, we will write $F = F(S) \cap F(T)$ for the set of all common fixed points of the mappings S and T.

Lemma 5. Let *E* be a normed space and *C* be a nonempty closed convex subset of *E*. Let $S,T: C \to C$ be nonexpansive mappings. Let $\{x_n\}$ be as in (1.3). If $F \neq \phi$ then $\lim_{n\to\infty} ||x_n - x^*||$ exists for all $x^* \in F$.

Proof: Assume that $x^* \in F$. Then we have

$$\begin{aligned} \left\| x_{n+1} - x^* \right\| &= \left\| a_n S x_n + (1 - a_n) T x_n - x^* \right\| \\ &= \left\| a_n (S x_n - x^*) + (1 - a_n) (T x_n - x^*) \right\| \\ &\leq a_n \left\| S x_n - x^* \right\| + (1 - a_n) \left\| T x_n - x^* \right\| \\ &\leq a_n \left\| x_n - x^* \right\| + (1 - a_n) \left\| x_n - x^* \right\| \\ &= \left\| x_n - x^* \right\|. \end{aligned}$$

Thus $\lim_{n\to\infty} ||x_n - x^*||$ exists for each $x^* \in F$.

Liu et al. [10] used the condition $||x - Ty|| \le ||Sx - Ty||$ for all $x, y \in C$. Call it Condition (L). We propose the condition: $||x - Sx|| \le ||Sx - Tx||$ for all $x \in C$ and call it Condition (S). Note that Condition Summer 2009 Iranian Journal of Science & Technology, Trans. A, Volume 33, Number A3

(S) is weaker than Condition (L). Here is an example of two nonexpansive mappings which satisfy Condition (S), whereas Condition (L) is not satisfied by these mappings. This illustrates the fact that our results are applicable to a larger class of mappings than the corresponding results of Liu et al. [10].

Example 1. Let us define $S, T : \mathbb{R} \to \mathbb{R}$ as follows:

$$Sx = \frac{2x+1}{4}, \quad Tx = 1-x, \qquad \forall x \in \mathbb{R}.$$

Clearly, both *S* and *T* are nonexpansive with the common fixed point $\frac{1}{2}$. Moreover, $||x - Sx|| \le ||Sx - Tx||$ for all $x \in \mathbb{R}$. In fact,

$$||x - Sx|| = ||x - \frac{2x + 1}{4}|| = ||\frac{2x - 1}{4}||$$

And

$$\begin{aligned} |Sx - Tx|| &= \left\| \frac{2x + 1}{4} - (1 - x) \right\| \\ &= \left\| \frac{2x + 1 - 4 + 4x}{4} \right\| \\ &= 3 \left\| \frac{2x - 1}{4} \right\|. \end{aligned}$$

Thus there are nonexpansive mappings with common fixed points and satisfying the Condition (S). However, if we choose x = 0, $y = \frac{1}{2}$, then the Condition (L) is not satisfied because

$$||x - Ty|| = ||0 - T(\frac{1}{2})|| = \frac{1}{2}$$

and

$$||Sx - Ty|| = ||S0 - T(\frac{1}{2})|| = \frac{1}{4}$$

We now prove the following result based on the Condition (S).

Lemma 6. Let *E* be a uniformly convex Banach space and *C* be a nonempty closed convex subset of *E*. Let $S,T: C \to C$ be nonexpansive mappings and $\{x_n\}$ be as in (1.3), where $\{a_n\}$ is a sequence in $[\delta, 1-\delta]$ for some $\delta \in (0, 1)$. Suppose that the Condition (*S*) holds. If $F \neq \phi$, then

$$\lim_{n\to\infty} \|Sx_n - x_n\| = 0 = \lim_{n\to\infty} \|Tx_n - x_n\|$$

Proof: Let $x^* \in F$. By Lemma 5, $\lim_{n \to \infty} ||x_n - x^*||$ exists. Suppose that there exist $c \ge 0$ such that $\lim_{n \to \infty} ||x_n - x^*|| = c$. Then $||Sx_n - x^*|| \le ||x_n - x^*||$ implies that

$$\limsup_{n \to \infty} \left\| Sx_n - x^* \right\| \le c$$

Similarly,

$$\limsup_{n\to\infty} \left\| Tx_n - x^* \right\| \le c \, .$$

Further, $\lim_{n \to \infty} ||x_{n+1} - x^*|| = c$ gives that

$$\lim_{n \to \infty} \left\| a_n (Sx_n - x^*) + (1 - a_n) (Tx_n - x^*) \right\| = c.$$

Applying Lemma 1, we obtain

$$\lim_{n \to \infty} \left\| Sx_n - Tx_n \right\| = 0.$$

Using the Condition (S), we get

$$\limsup_{n\to\infty} \left\| x_n - S x_n \right\| \le 0 \, .$$

That is,

$$\lim_{n\to\infty} \|x_n - Sx_n\| = 0.$$

Also, $||x_n - Tx_n|| \le ||x_n - Sx_n|| + ||Sx_n - Tx_n||$

implies that

$$\lim_{n \to \infty} \left\| x_n - T x_n \right\| = 0.$$

Lemma 7. Let *E* be a uniformly convex Banach space and *C* be a nonempty closed convex subset of *E*. Let $S,T: C \to C$ be nonexpansive mappings and $\{x_n\}$ be as in (1.3). Then, for any $p_1, p_2 \in F$,

$$\lim_{n \to \infty} ||tx_n + (1-t)p_1 - p_2|| = 0 \text{ exists for all } t \in [0,1].$$

Proof: By Lemma 5, $\lim_{n\to\infty} ||x_n - p_n||$ exists for all $p \in F$ and so $\{x_n\}$ is bounded. Thus there exists a real number r > 0 such that $\{x_n\} \subseteq D \equiv \overline{B_r(0)} \cap C$, so that D is a closed convex bounded nonempty subset of C. Put $\alpha_n(t) = ||tx_n + (1-t)p_1 - p_2||$. Notice that $\alpha_n(0) = ||p_1 - p_2||$ and $\alpha_n(1) = ||x_n - p_2||$ exist as proved in Lemma 5. For each $n \in \mathbb{N}$, define $W_n : D \to D$ by

$$W_n x = a_n S x + (1 - a_n) T x, \quad \forall x, y \in D.$$

It is easy to verify that

$$\left\|W_n x - W_n y\right\| \le \left\|x - y\right\|, \ \forall x, y \in D.$$

Set

$$R_{n,m} = W_{n+m-1}W_{n+m-2}...W_n,$$

and

$$\mathbf{b}_{n,m} = \left\| \mathbf{R}_{n,m}(t\mathbf{x}_n + (1-t)\mathbf{p}_1) - (t\mathbf{R}_{n,m}\mathbf{x}_n + (1-t)\mathbf{p}_1) \right\|, \quad \forall n, m \in \mathbb{N}.$$

Then it follows that $||R_{n,m}x - R_{n,m}y|| \le ||x - y||$ for all $x, y \in D$, $R_{n,m}x_n = x_{n+m}$ and $R_{n,m}p = p$ for all $p \in F$. By Lemma 3, there exists a strictly increasing continuous function $g:[0, \infty) \to [0, \infty)$ with g(0) = 0 such that

Summer 2009

$$g(b_{n,m}) \le ||x_n - p_1|| - ||R_{n,m}x_n - R_{n,m}p_1||$$

= $||x_n - p_1|| - ||x_{n+m} - p_1||.$

Since $\lim_{n\to\infty} ||x_n - p||$ exists for all $p \in F$, so $g(b_{n,m}) \to 0$ as $n \to \infty$. Hence $b_{n,m} \to 0$ for all $m \in \mathbb{N}$ as $n \to \infty$.

Finally, from the inequality

$$\begin{aligned} \alpha_{n+m}(t) &= \left\| tx_{n+m} + (1-t)p_1 - p_2 \right\| \\ &\leq b_{n,m} + \left\| R_{n,m}(tx_n + (1-t)p_1) - p_2 \right\| \\ &= b_{n,m} + \left\| R_{n,m}(tx_n + (1-t)p_1) - R_{n,m}p_2 \right\| \\ &\leq b_{n,m} + \left\| tx_n + (1-t)p_1 - p_2 \right\| \\ &= b_{n,m} + \alpha_n(t), \end{aligned}$$

it follows that

 $\limsup_{m\to\infty}\alpha_{n+m}(t)\leq\limsup_{m\to\infty}b_{n,m}+\alpha_n(t).$

That is,

$$\limsup_{m\to\infty}\alpha_m(t)\leq \liminf_{n\to\infty}\alpha_n(t),$$

Hence $\lim_{n \to \infty} ||tx_n + (1-t)p_1 - p_2||$ exists for all $t \in [0, 1]$.

3. WEAK AND STRONG CONVERGENCE

We approximate common fixed points of the mappings S and T through weak convergence of the sequence $\{x_n\}$ in (1.3). In the first result, we use the Opial's condition, whereas the Kadec-Klee property is employed in the second one.

Theorem 1. Let E be a uniformly convex Banach space satisfying the

Opial's condition and $C, S, T, \{x_n\}$ be as in Lemma 6. If $F \neq \phi$, then $\{x_n\}$ converges weakly to a common fixed point of S and T.

Proof: Let $x^* \in F$. Then, as proved in Lemma 5, $\lim_{n\to\infty} ||x_n - x^*||$ exists. We prove that $\{x_n\}$ has a unique weak subsequential limit in F.

Since $\{x_n\}$ is a bounded sequence in a uniformly convex Banach space

E, there exist two convergent subsequences $\{x_{n_i}\}$ and $\{x_{n_j}\}$ of $\{x_n\}$. Let $z_1 \in C$ and $z_2 \in C$ be weak limits of the subsequences $\{x_{n_i}\}$ and $\{x_{n_j}\}$ respectively. By Lemma 6, $\lim_{n\to\infty} ||x_n - Sx_n|| = 0$ and I - S is demiclosed with respect to zero by Lemma 2. So we obtain $Sz_1 = z_1$. Similarly, $Tz_1 = z_1$. Again, in the same way, we can prove that $z_2 \in F$.

Next, we prove the uniqueness. For this, suppose that $z_1 \neq z_2$. Then, by the Opial's condition, we have

$$\begin{split} \lim_{n \to \infty} \|x_n - z_1\| &= \lim_{n_i \to \infty} \|x_{n_i} - z_1\| \\ &< \lim_{n_i \to \infty} \|x_{n_i} - z_2\| \\ &= \lim_{n \to \infty} \|x_n - z_2\| \end{split}$$

$$= \lim_{n_j \to \infty} \left\| x_{n_j} - z_2 \right\|$$

$$< \lim_{n_j \to \infty} \left\| x_{n_j} - z_1 \right\|$$

$$= \lim_{n \to \infty} \left\| x_n - z_1 \right\|,$$

which is a contradiction. Hence $\{x_n\}$ converges weakly to a point in F.

Theorem 2. Let E be a uniformly convex Banach space such that its dual E^* satisfies the Kadec-Klee property. Let C, S, T and $\{x_n\}$ be as in Lemma 6. If $F \neq \phi$, then $\{x_n\}$ converges weakly to a common fixed point of S and T.

Proof: By the boundedness of $\{x_n\}$ and reflexivity of E, we have a subsequence $\{x_n\}$ of $\{x_n\}$ that converges weakly to a point $p \in C$. By Lemma 6, we have

$$\lim_{i \to \infty} \|x_{n_i} - Sx_{n_i}\| = 0 = \lim_{i \to \infty} \|x_{n_i} - Tx_{n_i}\|.$$

This shows that $p \in F$. To prove that $\{x_n\}$ converges weakly to the point p; suppose that $\{x_{nk}\}$ is another subsequence of $\{x_n\}$ that converges weakly to a point $q \in C$. Then, by Lemmas 6 and 2, $p,q \in W \cap F$, where $W = \omega_w(\{x_n\})$. Since $\lim ||tx_n + (1-t)p - q||$ exists for all $t \in [0, 1]$ by Lemma 7, and so p = q by Lemma 4. Consequently, $\{x_n\}$ converges weakly to the point $p \in F$. The first strong convergence result in an arbitrary real Banach space goes as follows:

Theorem 3. Let E be a real Banach space C, $\{x_n\}$, S and T be as in Lemma 5. If $F \neq \phi$, then $\{x_n\}$ converges strongly to a common fixed point of S and T if and only if $\liminf d(x_n, F) = 0$, where

$$d(x, F) = \inf\{||x - p|| : p \in F\}$$

Proof: Necessity is obvious.

Conversely, suppose that $\liminf d(x_n, F) = 0$. As proved in Lemma 5, we have $||x_{n+1} - p|| \le ||x_n - p||$, which gives

$$d(x_{n+1}, F) \le d(x_n, F).$$

This implies that $\lim_{n\to\infty} d(x_n, F)$ exists and so by the hypothesis,

$$\lim_{n\to\infty} d(x_n, F) = 0.$$

Next, we show that $\{x_n\}$ is a Cauchy sequence in C. Let $\varepsilon > 0$ be arbitrarily chosen. Since

 $\lim_{n\to\infty} d(x_n, F) = 0, \text{ there exists a positive integer } n_0 \text{ such that } d(x_n, F) < \frac{\varepsilon}{4}, \quad \forall n \ge n_0.$ In particular, $\inf\{\|x_{n_0} - p\| : p \in F\} < \frac{\varepsilon}{2}.$ Thus there must exist $p^* \in F$ such that $\|x_{n_0} - p^*\| < \frac{\varepsilon}{2}.$ Now, for all $m, n \ge n_0$, we have

$$\begin{aligned} \|x_{n+m} - x_n\| &\leq \|x_{n+m} - p^*\| + \|x_n - p^*\| \\ &\leq 2\|x_{n_0} - p^*\| \\ &\lhd 2(\frac{\varepsilon}{2}) = \varepsilon. \end{aligned}$$

S. H. Khan / et al.

Hence $\{x_n\}$ is a Cauchy sequence in a closed subset *C* of a Banach space *E* and so it must converge to a point *q* in *C*. Now, $\lim_{n\to\infty} d(x_n, F) = 0$ gives that d(q, F) = 0. Since *F* is closed, we have $q \in F$.

Khan and Fukhar-ud-din [16] introduced the so-called Condition (A') and gave a slightly improved version of it in [17] as follows:

Two mappings $S,T: C \to C$ are said to satisfy the Condition (A') if there exists a nondecreasing function $f:[0, \infty) \to [0, \infty)$ with f(0) = 0, f(r) > 0 for all $r \in (0, \infty)$ such that either $||x - Tx|| \ge f(d(x, F))$ Or $||x - Sx|| \ge f(d(x, F))$ for all $x \in C$.

We use the Condition (A') to study the strong convergence of $\{x_n\}$ defined in (1.3). It is worth noting that in the context of nonexpansive mappings $S,T: C \to C$, the Condition (A') is weaker than the compactness of C.

Theorem 4. Let *E* be a uniformly convex Banach space, *C* and $\{x_n\}$ be as in Lemma 6. Let $S,T: C \to C$ be two nonexpansive mappings satisfying the Condition (A'). If $F \neq \phi$, then $\{x_n\}$ converges strongly to a common fixed point of *S* and *T*.

Proof: By Lemma 5, $\lim_{n\to\infty} ||x_n - x^*||$ exists for all $x^* \in F$. Let this limit be c where $c \ge 0$. If c = 0, there is nothing to prove. Suppose that c > 0. Now, $||x_{n+1} - x^*|| \le ||x_n - x^*||$ gives

$$\inf_{x^* \in F} \left\| x_{n+1} - x^* \right\| \le \inf_{x^* \in F} \left\| x_n - x^* \right\|,$$

which means that $d(x_{n+1}, F) \le d(x_n, F)$ and so $\lim_{n\to\infty} \lim_{n\to\infty} d(x_n, F)$ exists. By using the Condition (A'), either

$$\lim_{n \to \infty} f(d(x_n, F)) \le \lim_{n \to \infty} \left\| x_n - T x_n \right\| = 0$$

or

 $\lim_{n \to \infty} f(d(x_n, F)) \le \lim_{n \to \infty} ||x_n - Sx_n|| = 0$ In both cases, we have

$$\lim_{n\to\infty} f(d(x_n,F)) = 0$$

Since f is a nondecreasing function and f(0) = 0, it follows that $\lim_{n \to \infty} d(x_n, F) = 0$. The rest of the proof follows the pattern of the above theorem and is therefore omitted.

Remark 1. All the above theorems can be proved for the iteration process (1.3) with error terms in the sense of [18] (also see [17]):

$$\begin{cases} x_1 = x \in C, \\ x_{n+1} = a_n S x_n + b_n T x_n + c_n u_n, \quad \forall n \in \mathbb{N}, \end{cases}$$

where $a_n + b_n + c_n = 1$, $\sum_{n=1}^{\infty} c_n < \infty$ and $\{u_n\}$ is a bounded sequence in C.

Remark 2. All the results obtained so far can be extended to the case of nonself-nonexpansive mappings (cf. [19]) for the scheme (1.3), with suitable changes.

Remark 3. In the light of the above remarks, several Mann-type (and Ishikawa-type) convergence results are included in the analysis of our results (see for example, [7] and [8]).

REFERENCES

- 1. Byren, C. (2004). A unified treatment of some iterative algorithms in signal processing and image reconstruction. *Inverse Problems, 20,* 130-120.
- 2. Kim, T. H. & Xu, H. K. (2005). Strong convergence of modified Mann iterations. Nonlinear Anal., 61, 51-60.
- 3. Mann, W. R. (1953). Mean value methods in iterations. Proc. Amer. Math. Soc., 4, 506-510.
- 4. Chidume, C. E. & Mutangadura, S. A. (2001). An example on Mann iteration method for Lipschitz Pseudocontractions. *Proc. Amer. Math. Soc.*, *129*, 2359-2363.
- 5. Ishikawa, S. (1974). Fixed points by a new iteration method. Proc. Amer. Math. Soc., 44, 147-150.
- 6. Das, G. & Debata, J. P. (1986). Fixed points of quasi-nonexpansive mappings. *Indian J. Pure. Appl. Math.*, 17, 1263-1269.
- Khan, S. H. & Takahashi, W. (2001). Approximating common fixed points of two asymptotically nonexpansive mappings. *Sci. Math. Japon.*, 53, 143-148.
- 8. Takahashi, W. & Tamura, T. (1995). Convergence theorems for a pair of nonexpansive mappings. J. Nonlinear and Convex Anal., 5, 45-58.
- 9. Takahashi, W. (2000). Iterative methods for approximation of fixed points and their applications. J. Oper. Res. Soc. Japan., 43, 87-108.
- Liu, Z. Feng, C. Ume, J. S. & Kang, S. M. (2007). Weak and strong convergence for common fixed points of a pair of nonexapnsive and asymptotically non- expansive mappings. *Taiwanese Journal of Mathematics*, 11(1), 27-42.
- 11. Opial, Z. (1967). Weak convergence of the sequence of successive approximations for nonexpansive mappings. *Bull. Amer. Math. Soc.*, 73, 591-597.
- 12. Schu, J. (1991). Weak and strong convergence to fixed points of asymptotically nonexpansive mappings. *Bull. Austral. Math. Soc.*, *43*, 153-159.
- 13. Browder, F. E. (1967). Convergence theorems for sequences of nonlinear operators in Banach spaces. *Math. Z.*, *100*, 201-225.
- 14. Bruck, R. E. (1997). A simple proof of the mean ergodic theorem for nonlinear contractions in Banach spaces. *Israel J. Math.*, *32*, 107-116.
- 15. Falset, J. G. Kaczor, W. Kuzumow, T. & Reich, S. (2001). Weak convergence theorems for asymptotically nonexpansive mappings and semigroups. *Nonlinear Anal.*, *43*, 377-401.
- 16. Khan, S. H. & Fukhar-ud-din, H. (2005). Weak and strong convergence of a scheme with errors for two nonexpansive mappings. *Nonlinear Anal.*, 8, 1295-1301.
- 17. Fukhar-ud-din, H. & Khan, S. H. (2007). Convergence of iterates with errors of asymptotically quasinonexpansive mappings and applications. J. Math. Anal. Appl., 328, 821-829.
- 18. Xu, Y. (1998) Ishikawa and Mann iterative processes with errors for nonlinear strongly accretive operator equations. J. Math. Anal. Appl., 224, 91-101.
- 19. Matsushita, S. Y. & Kuroiwa, D. (2004). Strong convergence of averaging iteration of nonexpansive nonself mappings. *J. Math. Anal. Appl.*, 294, 206-214.